PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2017

College of Sciences
Section 1 Quiz 5 20 March 2017

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student 1D: Signature:

Calculate the current passing through each resistor in the circuit.
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PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2017
College of Sciences

Section 2 Quiz 5 20 March 2017

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Calculate the current passing through each resistor in the circuit.
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PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2017
College of Sciences
Section 3 Quiz 5 20 March 2017

Closed book. No calculators are to be used for this quiz
Quiz duration: 10 minutes

Name: Student 1D: Stgnature:

A capacitor of capacitance C; carries charge Qo with polarization as given in the
figure. It is connected to a resistor and another capacitor of capacitance (2 with
no initial charge. Find the charge on each capacitor as a function of time if we
close the switch at t=0.







PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2017
College of Sciences

Section 4 Quiz 5 21 March 2017

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student 1D: Signature:

A capacitor of capacitance C carries charge Qo with polarization as given in the
figure. It is connected to a battery and a resistor, and the switch is closed at t=0.
Find the charge on the capacitor and the current in the circuit as functions of
time.
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